Whitman College

Econ 308

Exam 1

February 9, 2005

Write all of your answers in your blue book.  Show all of your work.  The exam ends at 10:55.

1.  Consider a hypothetical economy that produces four goods: togas, scooters, bananas and bulldozers.  The table below gives the prices of these goods in 1998, 1999 and 2000.   Suppose that the typical urban family purchased 10 togas, 3 scooters, 1000 bananas and 0 bulldozers in 1998.  

	Item
	Price in 1998
	Price in 1999
	Price in 2000

	Togas
	$5.00
	$5.50
	$5.50

	Scooters
	100.00
	110.00
	170.00

	Bananas
	0.25
	0.30
	0.25

	Bulldozers
	2000.00
	2200.00
	2220.00


(a)  (5pts) Calculate the Consumer Price Index (CPI) for 1999, using 1998 as the base year.

(b)  (5pts)  Calculate the CPI for 2000, using 1998 as the base year.

(c)  (5pts)  Calculate the inflation rate between 1999 and 2000.

2.  Suppose that you work as an economic consultant.  Your boss is not an economist.

(a)  (5pts)  Your boss has just read that economists estimate that there is a bias in the Consumer Price Index.  He asks you to explain what it means to say that the CPI is biased.

(b)  (10pts)  Your boss notes that the unemployment rate in the United States averaged 5.5% in 2004.  He estimates that the unemployment rate will average 5.2% in 2005.  He asks you to forecast the percentage change in real Gross Domestic Product for 2005, using Okun’s Law, and to explain to him the reasoning behind your forecast.  

3. (15pts)  Consider the fall of the Roman Empire and the destruction of the Roman capital stock, including aqueducts, sewer systems and roads.  If the population had stayed constant through this destruction, what would have happened to the marginal product of labor, and the wage paid to labor?  In your answer, you should make reference to a supply and demand diagram for labor, and assume that the Roman economy had a Cobb-Douglas production function and perfectly competitive markets.

4. Consider the Cobb-Douglas production function where real aggregate output Y is given by  

Y = A KL1-,  in which A=5 is a parameter measuring the productivity of the available technology, K is the amount of capital employed, L is the amount of labor employed, and =0.2.  Suppose that currently K=300, L=10, and the price level, P, is 1000.  The savings rate, s, is 0.25.  The depreciation rate, , is 0.1.  Assume that the population remains constant and that there is no change in the production technology.  Use this information and the Solow Growth Model to answer the questions below.  

(a)  (5pts)  What is the current nominal aggregate output?

(b)  (10pts)  What are the total earnings of capital owners?

(c)  (10pts)  What is the rental price of capital, R?

(d)  (10pts)  What is the current real consumption per worker, c?

(e)  (10pts)  What will c be next period?

(f)  (10pts)  What is the steady-state level of consumption per worker, c*?

